regaer I
setfod  dATHer amseae A AT S FF 3aTEOr

dfehaT 3M3eele & fav FUiRa 3afer gfq feer 4 & & feae 4 5 fea (5 feat
#H #geAdH 20 U¢ FT TE) Ig W HIoleh a1 WM Ig AT el & forw
o gt & fow iy AT Qar 3uasy &, 3f®ead 4 e ufa e & [P
ST |

3cTexr |

T et 3m3cae 2 B¢ F fAT 2 e e §
o 2 x 2 = 20 YIRS &t 7 4 4 =

S& 0.2 (4/20) 3M3coe R Smeam|

30 Hote & Siis foar e (afe et o ohg / fohdY off T & "@lerm 913 §)
AR 3T H (IS LIRE A @relr 3121 §) ST SArwe|

RIAREAY VA
U dfhaT 33cae 3 @7 6 Tel & [T +1F &iar §
AR AH AT ot 9 T 4 b

37T 4x3 = 12 AT 12/20 = I§ 0.6 3ol F FAJE BTl

3cTey0T 3:

@l 91T el dfehaT HT3crel &1 HEdr (qoienrien) - 100

TIRH F @t AT (qUTHITIH) - 30

IR H @iy A0 (3{ererlforeh dfSar 3m3eele) - 2 M3l JIRE # 6 ¢ 3
featt & P e §

HfhH AT ot i feeT 4 &

37 4x3 = 12 safav 12/20 = g 0.6 3M3calc & sX&X gHM = 06 * 2 = 1.2



25% ZIRET & 90T & AT,
@ﬁmgmm=1oo+1.2=1o1.2
?{r\mﬁ@ﬁ@=30+1.2=31.2

IR % = 31.2 / 101.2 + 100 = 30.83% (AIES &I HeIUTelel I o)



	जनसंख्या का दायरा



